NCSCOS:  8.5.02 Write an equation of a linear relationship given: two points, the slope and one point on the line, or the slope and y-intercept.

Example: Change the following linear equation from standard form to slope-intercept form 
Problem: 6x + 4y = 30
Step 1: Change the term that is beside the “y” term to the opposite sign

   Original equation: 6x + 4y = 30
   Change the sign:  - 6x + 4y = 30 

Step 2: Divide all of the terms except the term with the y by the coefficient in front of “y

 - 6x + 4y = 30
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Step 3: Write y = and simplify the “x” term and the constant

          Y =  -  
[image: image3.wmf]x

2

3

   +     
[image: image4.wmf]2

15

















_1349681090.unknown

_1349681141.unknown

_1349681181.unknown

_1349681031.unknown

